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Grade 4 — 2013-14, Phase lll
Part 2: Constructed Response Task Section

Number Forms Task

Ryanne started her math homework, but did not finish it. She has some correct and some
incorrect answers so far.

a. Circle one of Ryanne’s answers on the next page that is not correct. Use place value to
explain why it is not correct in the answer space below.

Y

b. Finish any problems Ryanne did not complete on the next page. Put each answer in the
appropriate space in Ryanne’s homework.

@ @ @ Page 8 GO ON TO THE NEXT PAGE ‘



Grade 4 — 2013-14, Phase lll
Part 2: Constructed Response Task Section

Number Forms Task

Ryanne’s math homework:

1. Use <, >, or = to complete each comparison.
« 27,113 (<) 27,131 « 40,500 () 40,050

- 162,010 (3) 161,020 - 769,235 () 766,935

2. Write the word form and expanded form.

* 923,606 (word form) nine hundred twenty three sixty-six

(expanded form) 900,000 + 20,000 + 3,000 + 60 + 6

79,052 (word form)

(expanded form)

3. Round 46,583 to the

* nearest ten

e nearest hundred

* nearest thousand

\/’_\_/_\

@ @ @ Page 9 GO ON TO THE NEXT PAGE ‘



Scoring Guide

The CCSS for Mathematical Content (4 points)

4 NBT.A.2(x) Represents 79,052 in word form.
(1 Point)

4 NBT.A.2(y) Represents 79,052 in expanded form as 70,000 + 9,000 + 50 + 2 or
7 x10,000 + 9 x 1,000 + 5x 10 + 2.

(1 Point)

4.NBT.A.2(z) Compares correctly 40,500 > 40,050 and 769,235 > 766,935.
(1 Point)

4.NBT.A.3 Rounds 46,583 to each place value listed.
(1 Point)

The CCSS for Mathematical Practice (1 point)

MP7  Explains an error in terms of the incorrect application of place value.
(1 Point)
(MP7: Look for and make use of structure.)

TOTAL POINTS: 5

© 2014 University of Pittsburgh



The CCSS for Mathematical Content Addressed In This Task

Generalize place value understanding for multi-digit whole numbers.

4NBT.A.2 | Read and write multi-digit whole numbers using base-ten numerals, number names, and
expanded form. Compare two multi-digit numbers based on meanings of the digits in each
place, using >, =, and < symbols to record the results of comparisons.

4.NBT.A.3 | Use place value understanding to round multi-digit whole numbers to any place.

The CCSS for Mathematical Practice*

7. Look for and make use of structure.

* Gray type indicates Mathematical Practices not addressed in this assessment.

© 2014 University of Pittsburgh




Secure Material: Do Not Cobv! ’ ]:a -

Number Forms Task

Ryanne starteci her math homework but did not finish it. She has some correct and some incorrect
_answers so far. - E _ R o -

a. Csrcle one of Ryanne s answers on the next page that is not correct. Use place value to
explainwhy itis not correct in the answer space pelow.

& i+ & {m' COK(@C'L Yf@ULS( W m’lﬂhf?"% n‘fo \;)
i Vo \Carm

Lnéne w@&mﬁ, 4h@e+hma S .\(\ﬂ\mé«ess X
"% INCOrreat O-LQO DD(”‘_ 0(00+(¢0(0H7

Qm@mm{% SRS X
/000'\‘?.01000‘}'3;%0"'@0‘['6

b. Finish any problems Ryanne did not ccmplete on the next page. Put each answer in the
- r.appropnate space in Ryanne s homework. '

Litho#: 00164200171




Secure Material: bo fdotcow A lb o

Number Forms Task

Ryanne’s math homeWork:

1. Use <, >, or = fo complete each comparison. .
» 27,113 (<) 27,131 » 40,600 (&) 40,050

- 162,010 @16‘1,0'20,- 769,235 (§) 766,935

2. Wﬁfﬁjﬁﬂordiorm and expanded form

f‘ 923 606 (word form)p nine hundred twenty three s:xty-snx

i e

(expanded farm 900 000 + 20 000 +3

-?9 052 {word form) S?JEJ ﬂ.ne Jﬂnlsm'k # ”r "”ym _
 (expanded form) 70 :O(O@ 'F91{Ol00'k50 } Q\

3 Round 46 583 to the

« nearest ten lhbi § 86 ' :T:S a

. L :v S =
* nearest hun_dred J—L ﬁ@() ‘ e 7

e nearest thousand I’OG

Litho#: 00164200171



Anchor 1 Litho 00164200171
Total Content Points: 4 (4.NBT.A.2(x),4NBT.A.2(y), 4. NBT.A.2(z), 4 NBT.A.3)
Total Practice Points: 1 (MP7)

In Part B, the student represents 79,052 in word form as “seventy nine thousand fifty two,” and
in expanded form as “70,000 + 9000 + 50 + 2” (4. NBT.A.2(x), 4. NBT.A.2(y)). The student
correctly compares 40,500 > 40,050 and 769,235 > 766,935 (4. NBT.A.2(z)). The student
correctly rounds 46,583 to the nearest tens, hundreds, and thousands places (4. NBT.A.3). In
Part A, the student states that one of Ryanne’s answers is incorrect, and writes the correct word
form and expanded form of 923,606 (MP7).

Total Awarded Points: 5 out of 5



Secure Material: Do Not Copy! S 2 a

Number Forms Task

Ryanne started her math homework, but did not finish it. She has some correct and some incorrect
answers so far. : _

a. Circie one of Ryanne's answers on the next page that is nof correct. Use ptace value to
explam why itis not correct in the answer space below,

128 Nire \’\uﬂdﬂd ere(ﬁ\ﬂ —Hﬂf‘ee

lXJr% SIS T
= C (e betousc
| %%O’r +hne Ya’ rﬁo Ex ArNme: huﬂd@lé

’}D&f\‘ra Jf\’lﬂ:b —\‘\QGMSQF(X 6\)( huﬁc\rcr& 0(&

INpy Q,Of‘(‘td‘ e Aol thﬁ *hﬁ qU{),OOQ+ .
120,004 2,0 + LOGQ—PG? |

b. Finish any problems Ryanne did not complete on the next page. Put each answer in the
' appropnate space in Ryanne’s homework.

Litho#: 00024200171
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Secure Material: Do Not Copy! ’ 2b

Number mes Task

Ryanna’s math homework:

1. Use <, >, or = to complete each comparisoin. . . 7
* 27,113 @ 27,131 L 7 + 40,500 @ 40,050

-162,010.@161,020 - +769,285 () 766,935
o ! ‘ S, A__. oy ' - ’ - .
- y « L -

! i

2. Write ihe word form and e:-cpanded form.

nine hundred twenty three smty-s!x

=923, 606 (word form)

(expanded form) 900,000 20,000 + 3, 000 160+6 ) - . 3
1
 +79,052 (word form) S@.\JC(P};{ ﬁ”"jf;"‘ rqousm _F ‘th O}LLO )
- (expanded form) 704‘ CMf ’j)'f"& |

3.Round 46,583 to the
» nearest ten L{ ID B%O -
. nearest hundred Lk(o (.fm
* nearest thousand _ H_L O@

Litho#: 00024200171
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Anchor 2 Litho 00024200171
Total Content Points: 3 (4 NBT.A.2(x),4.NBT.A.2(z),4.NBT.A.3)
Total Practice Points: 1 (MP7)

In Part B, the student represents 79,052 in word form as “seventy nine thousand fifty two”
(4.NBT.A .2(x)). However, the student incorrectly represents 79,052 in expanded form as

“70 + 9 + 50 + 27 (no credit for 4. NBT.A.2(y)). The student correctly compares 40,500 > 40,050
and 769,235 > 766,935 (4 NBT.A.2(z)). The student rounds 46,583 to the nearest ten, hundred,
and thousand (4. NBT.A.3). In Part A, the student thoroughly explains the error Ryanne made by
changing Ryanne’s incorrect “Nine hundred twenty three sixty-six” to “nine hunderd twenty
three thousand six hundred and six” and by explaining that Ryanne “forgot the hundred and
thousand” as an incorrect application of place value (MP7).

Total Awarded Points: 4 out of 5



" Secure Material: Do Not Copy! -

Number Forms Task

. Ryanne started her math homework, but did not finish it. She has some correct and some incor

answers so far.

-a. Circle one of Ryanne's answers oh the next page that is.not correct, Use place value to

A-3a

rect

explain why it is not correct in the answer space below.

28 It wb comeet brcause +hy dd't put Jhoug
ohd i M =irt-siy it is Siy hund, svy

onfs

b. Finish any problems Ryanne did not complete' on the next page. Fut each answer in the

. appropriate space in Ryanne’s homework. - . : S
v Hisso
R ' 7009
S8Jen +3 “nine thousend Frfby-tae L} |

70 j0csq 0001 HOT) Y»}'l \

Litho#: 00034200171 T ses o
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Secure Material: Do Not Copy! - ! 3b

Number Forms Task

Ryanne’s math homework:

1. Use <, >, or = to complete each comparison. 7
273 @ 27, st - 40,500 (2) 40,050

. 162 010 @ 161 oza -~ -769,235 ) 766,935

S . »

2. Write the word formi a’nd'e‘xpanded form.

(expanded form) 800,000 + 20,000 + 3,000 + 60+ 6

. 79,952 {word form) %vﬁﬂ“‘u nind. '\’ lfleuﬁami :Egn -+c\\(! '
(expanded fbrm) VD{CQ:Q L q{ 840 {' F)(ﬁ?:)
3. Round 46 583 o the

. nearest ten LHD 5 K 0

* nearest hundred L‘ lo Oh

« nearest thousand L! ZO [ 7o

Litho#: 00034200171
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Anchor 3 Litho 00034200171
Total Content Points: 3 (4.NBT.A.2(x),4NBT.A.2(y),4.NBT.A.3)
Total Practice Points: 1 (MP7)

In Part B, the student represents 79,052 in word form as “seventy-nine thousand fifty- two”

and represents the expanded form as “70,000 + 9,000 + 50 + 2” ((4 NBT.A.2(x), 4.NBT.A .2(y)).
The student incorrectly compares 769,235 > 766,935 as 769,235 < 766,935 (no credit

for 4 NBT.A .2(z)). However, the student does round 46,583 to the nearest ten, hundred, and
thousand correctly (4.NBT.A.3). In Part A, the student explains Ryanne’s error in place value
by stating, “they didn’t put thousands” (MP7).

Total Awarded Points: 4 out of 5



__Number;-Forms Task

. _Ryanne started her math homework but did not finish it. She has some correct and some mcorrect
. answers so far.

'a'.

Secure Material: Do Not Copy! ! 4 a

Clrcle one of Ryanne S ansvﬁ (S o he page tha oé’ks nof correct. Use place value to

exp]aln why it is not.,co;;r hlii\f@ erspage PE},‘

24 %@&@O(o

g huoded oy -
Iheee ﬁqoog;w;r 5 8¢ mm&md
5}\00 | L

FInISh any problems Ryanne did not complete on the next page Put each answer in the
appropnate space in Ryanne s homework :

|
Litho#: 00314200175
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Secure Material: Do Not Copy! S | 4b

" 'Number Forms Task

~ .- Ryanne's math homework:

1. Use <, 5-, or = to complete each comparison.
27,113 @ 27, 131 40,500 () 40,050

-162 o1o®161 ;;\; . =769,235 () 766,935

e o e ey i

1

- 2. Wnte the word form and’ expanded form.

« 923,606 (word form( hine hundred twenty threehb _n'_‘,_ Y\\)\’\A,ﬂé *5&0’4‘“\ Jé“ﬁ&

\D‘\“Q &:‘pa

(expanded form) 900, 000 + 20,000+ 3,000 +60 + 6

- 78,052 (word form) Q\-\’AL{X\"\'V& Nird '\-‘f\o UG@J\& r@-\\%\x 4\~u¥)

(expanded form) Zgliﬁ )hﬁ %QW}Q— ‘:3() ‘*f’)..

3. Round 46, 583 to the

. ~hearest ten ' ‘__/ 5 % .
-_n:earest f_iundred S C’i (\
. riearest thousand . _ Q)\;_TDD

Litho#: 00314200175
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Anchor 4 Litho 00314200175
Total Content Points: 3 (4.NBT.A.2(x),4NBT.A2(y), 4. NBT.A.2(z))
Total Practice Points: 1 (MP7)

In Part B, the student correctly represents 79,052 in word form as “seventy nine thousand, fifty
two” and represents the expanded form as “70,000 + 9,000 + 50 + 2” ((4.NBT.A 2(x),

4 NBT.A .2(y)). The student correctly compares 40,500 > 40,050 and 769,235 > 766,935
(4.NBT.A.2(z)). The student incorrectly rounds 46,583 to 580, 590, and 6,700 (no credit

for 4 NBT.A.3). In Part A, the student uses the word and expanded forms of 923,606 and labels
each place value above the number to explain Ryanne’s error in terms of the incorrect
application of place value (MP7).

Total Awarded Points: 4 out of 5



Secure Material: Do Not Copy! 5 ‘_l

Number Forms Task

Ryanne started her math homework ‘but did not finish it. She has some correct and some incorrect
answers so far. :

a. Circle one of Ryanne’s answers on the next page that is not correct Use place \falue to
explain why it is not correct in the answer space below. _

= Tt is Mot eorae | /%C:W .
#TLS plet /ﬂb’ﬂdfﬁd ‘hvenJrg Jr}'n(é& %@(,gmd

Eormis QoY 200+ 20, oog+2~},c‘>00%

£O0+6.

b. Finish any problems Ryanne did not comptete on the next page. Put each answer in the
appropnate space in Ryanne’ s homework,

Litho#: 00274200171
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Secure Material: Do Not Copy! S Sb |

Number Forms Task

Ryanne’s math homework: .

1. Use <, >, 0r =to co_niblete each comparison.
* 27,113 @ 27,131 + 40,500 @ 40,050

- 162,010 (3) 161,020 < 769,235 (7) 766,935

2. Write th o and eXpantETiomT: —T—
- 923,608 (word form) nine hundred twenty three sixty;:\\l
(expanded form) '900,000 + 20,000 + 3, 000 +60+6 /S
» 79, 052 (word form) '5‘6 IMJ £/ 'Q‘a&l -Seven
(expanded form} Q) 0004‘6];&70* S O‘i‘ e |
3. Round 46,563 to the
' . nearest ten _ é QOO
s nearest hundred g’ z IO O O
* nearest thousand 60‘1 QOO

J—\\_’/,—\\

Litho#: 00274200171
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Anchor 5 Litho 00274200171
Total Content Points: 2 (4.NBT.A.2(y),4NBT.A.2(z))
Total Practice Points: 1 (MP7)

In Part B, the student incorrectly represents 79,052 in word form as “seventy-nine thousand
fifty-seven” (no credit for 4. NBT.A.2(x)). The student correctly represents the number in
expanded form as “70,000 + 9,000 + 50 + 2 (4.NBT.A.2(y)). The student correctly compares
40,500 > 40,050 and 769,235 > 766,935 (4.NBT.A .2(z)); however, the student incorrectly rounds
46,583 to 46,600, 47,000, and 50,000 (no credit for 4.NBT.A.3). In Part A, the student states “It
is not correct” and uses the word and expanded forms of 923,606 to explain Ryanne’s error in
terms of the incorrect application of place value (MP7).

Total Awarded Points: 3 out of 5



Secure Material: Do Not Copy! ! '. 6a

Number Fo‘r_ms Task

Ryanne started her math homework but did not ﬁmsh |t She has some correct and some lncorrect
answers so far. '

a. Clrcle one of Ryanne s answers on the next page that is nof correct Use place vaiue to
explain why it is not correct in the answer space below. -

(\H’W/ 4 U“AW/J %@d‘j’m’?#

Wlmt%\’rhre(:@)fx ‘\(\Q(\§ve,d 5\\(

b.  Finish any prablems Ryanne did not complete on the next page Put each answer m the
appropriate space in Ryanne’s hcmew::ark

Litho#: 00374200171
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Seoure Material: Do Not Copy! ’ 6b
‘*' -

NMumber Famisi Task

Ryanne’s math homework:

1. Use <, >, or = fo complete each comparison.
« 27,113 (<) 27,131 240,500 @ 40, 050

- 162,010 (3) 161,020 - 769,235 © 766 435

2. Write the 'wbrd form and expanded h
=923, 606 (word form) nine hundred twenty three sixty-six

{expanded form) 900,000 + 20,000 + 3,000 + eo +6

| '79052(wordform) 'Deum% mma., ~\'hnmmd ‘C\ﬂ-u -»\-w
(expanded form) 1D noO x C%Dhm £S04 2 |

- 3. Round 46,583 to the '

* nearest ten (JI b E)Q-)

i nearest hundred U\

= neargst thousand L/\ /L

Litho#: 00374200171
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Anchor 6 Litho 00374200171
Total Content Points: 3 (4.NBT.A.2(x),4NBT.A2(y), 4. NBT.A.2(z))
Total Practice Points: 0

In Part B, the student represents 79,052 in word form as “seventy nine thousand fifty two”
(4.NBT.A.2(x)). The student represents the expanded form as “70,000 + 9,000 + 50 + 2”
(4.NBT.A.2(y)). The student correctly compares 40,500 > 40,050 and 769,235 > 766,935
(4.NBT.A.2(z)); however, the student incorrectly rounds 46,583 to 4658, 466, and 47 (no credit
for 4 NBT.A.3). In Part A, the student attempts to explain Ryanne’s error by incorrectly writing
the word form as “nine hundred thousand twety three six hundred six” (no credit for MP7).

Total Awarded Points: 3 out of 5



Secure Material: Do Not Copy! ! 7a

Number Forms Task

Ryanne started her. math homework, but did not finish it. She has some correct and some mcorrect
answers so far, .

a. Circle one of Ryanne’s answers on the next page that is nof correct, Use place value to
explain why it is not correct in the answer space betow

&

169, 235 (3) Vete, 436

b. Finish any problems Ryanne did not complete on the next page. Put each answer in the
appropnate space in-Ryanne's homework, :

Litho#: 00084200171

— —
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Secure Material: Do Not Copy!| S ‘ 7b

Number Forms Task

Ryanne’s math homework:

1. Use <, >, or = to complete each comparison.

+ 27,113 () 27,131 40,500 () 40,050

no¢' -

- 162,010 (3)161,020
= COYYeet

769,235 () 766,935

2. Write the word form and expanded form.

« 923,606 (word form) nine hundred twenfy-'_th_ree sixty-six

. {expanded form) 900,000 + 20,000 + 3,000 + 60+6 _
. 79,052 (word form) ' f'}if?f’ l -C -l’:'hJ ‘f"\!\}h R
:-(exﬁanded fdrm) _‘D Q “%’c{ 50{1) ~+ C () )(" ?
3. Round 46%&3 to the
: * nearest ten L/(a {0
= nearest hundred U b. 65\
= nearest thousand (Hfz o 68‘ O\

—_—

“Titho#: 00084200171 -
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Anchor 7 Litho 00084200171
Total Content Points: 2 (4.NBT.A.2(y),4NBT.A .2(z))
Total Practice Points: 0

In Part B, the student incorrectly represents 79,052 in word form as “seventy-nine hundred fifty
two” (no credit for 4 NBT.A.2(x)). The student correctly represents the number in expanded
form as “70,000 + 9,000 + 50 + 2” (4. NBT.A.2(y)). The student correctly compares

40,500 > 40,050 and 769,235 > 766,935, despite the notation “not correct” next to the answer
(4.NBT.A.2(z)). The student incorrectly rounds 46,583 to 46.6, 46.58, and 46.583 (no credit
for 4 NBT.A.3). In Part A, the student does not explain Ryanne’s error or the incorrect
application of place value, but instead compares 769,235 > 766,935 (no credit for MP7).

Total Awarded Points: 2 out of 5



Secure Material: Do Not Copy! ! 83 o

| Num'béi' 'Forms Tas'k‘ :'

Ryanne started her math homework ‘but did not finish it. She has some correct and some incorrect -
answers so far. .

- __Circle one of Ryanne S answers on- the next page that is not correct. Use place value to
explain why it is not correct in the answer space below. : _

& tl’leg nff, Coﬁfec,-(,—b\e. 66 j—J CJOL :\)’;\Lp@b}mg
.On%mq/d’%eﬁ - S

b, : Flnlsh any problems Ryanne did not complete on the next page. Put each answer ln the
h appropnate space in Ryanne’s homework. : :

Litho#: 00154200175
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~ Secure IV_Iaté_riaI: Do Not Copy! S 8b

Number Forms Task

Ryanne’s math homework: -

1. :Use <, >or= fo.complete each comparison.
2713 @D 27,31 . +40,500 (S 40,050

-162,010 161,020 - +769,235 Q) 766,935

2. Write the word form and expanded form.

- 923,606, (word form) nine hundred twenty_three sixty-six

(expanded form) 900,000 + 20,000 + 3,000 +60+6

. 79, 052' (word forrri)' gél'fen-}é'ni;_e ;Jvmmé And 75',:-943 1%1 J.O,:. 2
(expanded form) 7@ 000-}-‘@/0(30{— SO,

3. Round 46 583 to the

«nearest ten _J_@i&g(”?)
. nearest hundred : (0 \9 ? 5

) [y
. nearest thousand L?E-/:j 9‘%

Litho#: 00154200175
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Anchor 8 Litho 00154200175
Total Content Points: 2 (4.NBT.A.2(x),4NBT.A .2(y))
Total Practice Points: 0

In Part B, the student represents 79,052 in word form as “seventy nine thousand fifty two”
(4.NBT.A.2(x)). The student represents the expanded form as “70,000 + 9,000 + 50 + 2”
(4.NBT.A.2(y)). The student incorrectly compares 769,235 > 766,935 as 769,235 < 766,935

(no credit for 4 NBT.A.2(z)). The student indicates the tens, hundreds, and thousands places, but
does not round 46,583 (no credit for 4. NBT.A.3). In Part A, the student does not sufficiently
explain Ryanne’s error, only saying “they are correct because I did the problems on the next
page” (no credit for MP7).

Total Awarded Points: 2 out of 5



Secure Material: Do Not Copy! ! 9a

Numb’er Forms Task

: Ryanne started hermath ‘homework, but d[d not f nish'it. She has Soifie correct and Soms mcorrect
answers so far. oo _ .

‘a. C[rcle oné of Ryanne’s answers on the nexi-page that i is not correct. Use place value to
* . explain why it is not correct in the answer space below

T2 illoccebh \y m%%voxnn%d\dmw
Flothe aos

b.- . Finish any problems Ryanne did not complete on the next page. Put each answer in the
- appropriate space in Ryanne s homework. : : :

Litho#: 00354200175
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Secure Material: Do Not Copy! S 9b

Number Forms Task: |

Ryanne’s math homework:

1. Use <; > or= tocom';')!ete each comneri_son.
L7 M3 @ 27,131 - 40,500 O 40,050

-162,010_@161,020 . +769,235 (0,766,935

2 Write the word form and expanded form

. 923 606 (word form) nine hundred twenty three snxty—su( '

(expanded form) 900 000 + 20, OOD + 3,000 + 60 + 6

+ 79,052 (word form) on huﬂdrfd
(expanded form) \72 00(] -b" %B@‘i So’f 52

3. Round 46,583 to the

-. _* nearest ten (’\b 5 QO

. ne.arest hundred ‘qg) gﬁb
» nearest thousand ;Ll %Aé

Litho#: 00354200175
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Anchor 9 Litho 00354200175
Total Content Points: 1 (4.NBT.A2(y))
Total Practice Points: 0

In Part B, the student incorrectly represents 79,052 in word form as “seven hundred nine
thousand fifty-two” (no credit for 4 NBT.A.2(x)). The student correctly represents the number in
expanded form as “70,000 + 9,000 + 50 + 2 (4.NBT.A.2(y)). The student does not compare
40,500 > 40,050 and 769,235 > 766,935 (no credit for 4. NBT.A.2(z)). The student incorrectly
rounds 46,583 to 46,590, 46,600, and 47,500 (no credit for 4 NBT.A.3). In Part A, the student
incorrectly explains Ryanne’s error by saying, “It is incorrect because Ryanne did not Finshe all
of it” (no credit for MP7).

Total Awarded Points: 1 out of 5



Secure Material: Do Not Copy! ’ 1 O a

Number Forms Task .

Ryanne started her math homework, but did not finish it. She has some correct and sorne incorrect
answers so far.

a. Circle one of Ryanne’s answers on the next page that is nof correct, Use place value to
explain why it is not correct in the answer space below.

| * woobest hundbed
. "\%F&j‘b ﬁhﬂwmhda

b, Finish any problems Ryanne did not complets on the next page. Put each answer in the -

appropnate space in Ryanne's homework

Litho#: 00254200171
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Secure Material: Do.Not Coy!_ S 1 Ob

Neumber Forms Task

Ryanne’s math homework:

1'.-U_se <, >, 0r= fo complete each comparison. _ _
* 27,113 @ 27,131 : -« 40,600 O 40,050

- 162,010 (5) 161,020 < 769,235 () 766,935

2."Write the word form and expanded form.

= 923,606 (word form) hine hundred twenty three sixty-six

(expanded form) 900,000 +20,000 + 3,000 + 60 + 6
N » 79,052 {word :f'orr_n)' Vel
~ (expanded fc;rm) 7()‘*‘ 4+ 5{) + 4.
3. Round 46,583 to the
-« nearestien _'“[5.‘590
* nearest hundred L‘G N GD 0
© = nearest thousand t‘—[ 683

Litho#: 00254200171
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Anchor 10 Litho 00254200171
Total Content Points: 1 (4.NBT.A.2(x))
Total Practice Points: 0

In Part B, the student represents 79,052 in word form as “seventy nine thousand fifty two”
(4.NBT.A .2(x)). However, the student incorrectly represents 79,052 in expanded form as

“70 + 9 + 50 + 27 (no credit for 4. NBT.A.2(y)). The student does not compare 40,500 > 40,050
and 769,235 > 766,935 (no credit for 4. NBT.A.2(z)). The student correctly rounds 46,583 to
46,580, and incorrectly rounds to 46,600 and 47,583 (no credit for 4 NBT.A.3). In Part A, the
student incorrectly explains Ryanne’s error by saying, “nearest ten, nearest hundred, nearest
thousand” in bullet notation (no credit for MP7).

Total Awarded Points: 1 out of 5



Secure Material: Do Not Copy! ! 1 1 a

Numbér Forms Task '

. Ryanne started her math homework but d[d not finish |t She has some correct and some’ 1ncorrect
answers so far. : _ . .

‘a, : Clrcle one of Ryanne S answers on the next page that Is not correct Use p]ace value to

explam why it is not correct in the answer space below.

& 5})%’ h<e/6c}
dw,{ mr angw%

'b.  Finish any problems Ryanne did riot complete on the next page. Put each'answer_:__i'n the
appropriate space in Ryanne’s homework. ' '

]/\t Ylﬁ’f)é; _—1'0 g'ﬁ
DV@Y h 6 OLY\Q w(f(§
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Secure Material: Do Not Copy! | ’ 1 1 b

-~ Number Forms Task -

- Ryanne’s math homework:.

1.Use<,>or=to co_rn'plete each comparison. o »
27113 @ 27,131 <40,500 @) 40,050

-162,010 161,020 - -769,235 () 766,935

2, Write the word form énd expanded form.

- 923,606 (word form) “nine hundred tWenty thrée sixty-six -

(expanded form) 200, 000 +20,000 +3,000+60+6 |
- 79,052 (word form) (\Ith to }f)% n/;lN 4 nin ?»f‘ﬁl-u -)La Jo)-
(expanded form) 7(550 00+ Q ga0 d‘/:B' )+ l
3. Round 46,583 to the
* nearest ten LTU 40 m
+ nearest hundred < 00 00 d
- nearestthousand ) (100}, 600

Litho#: 00204200175
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Anchor 11 Litho 00204200175
Total Content Points: 0
Total Practice Points: 0

In Part B, the student incorrectly represents 79,052 in word form as “sventy hundred nin fifty
two” (no credit for 4 NBT.A.2(x)). The student also incorrectly represents 79,052 in expanded
form as “700,000 + 90,000 + 50 + 2” (no credit for 4. NBT.A.2(y)). The student compares
40,500 > 40,050 as 40,500 < 40,050 (no credit for 4 NBT.A.2(z)). The student incorrectly rounds
46,583 to 50,000, 500,000, and 5000,000 (no credit for 4 NBT.A.3). In Part A, the student
incorrectly explains Ryanne’s error by saying, “She need to go over her answers” (no credit

for MP7).

Total Awarded Points: 0 out of O



